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The division is a method of distributing a group of things into 

equal parts. 

           Or 

 Repeated Subtraction 

 

Short method division  

1. 12÷6 2. 9÷3 
6)  12 (2 3)    9 (3 

-12    -9 

 00     0_ 

Q=2 Q =3 

    R=0 R=0 

3. 24÷ 4 4. 40÷ 8 

4)   24 (6     8 )  40(5 

   -24     -40 

   00      00 

Q =6 Q=5 

R=0 R=0 

5. 14 ÷ 3 6. 70 ÷ 10 

3)  14(4   10) 70(7 

   -12  -70 

    02    00 

Q =4 Q =7 

R=2 R=0 

7. 59÷ 7 8. 81 ÷ 9 

7)  59(8     9 ) 81( 

    -56_ -81 
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Q =8 Q =9 

R=3 R=0 
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           R = 6 
 
 
 
11. 28 ÷ 4 

 4)  28(7 
                     -28              

 00                                                
 

Q = 7 
R = 0 

 
 
 
13.  36 ÷ 6                                                                     
 
        6)  36   ( 6        

-36 
 00 

 
              Q = 6 

   R = 0 
 
15.  42 ÷ 7                               
 
      7 )  42  (6 

                       -42 
00 

 
   Q = 6 

      R = 0 
 
 
 
 

               17.   54 ÷ 6                                     
 
       6 )    54    (9 

 - 54 
               00 
 

Q = 9 
R = 0 
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                     5) 46(9 

                          -45 
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                  Q = 9              

                  R = 1 

 

 

              12. 38 ÷ 9 

                 9 )   38   (4                          

                 -36 
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            14.   18 ÷ 3 

 

                 3)  18 (6 

                -18 

                 00 

              Q = 6 

               R = 0 

 

16. 25 ÷ 5 

 

5)   25    (5 

     -25 

 00  

 

Q = 5 

   R = 0 

 

        

           18.  58 ÷ 8 

    

8)     58  (7 

        -56 

         02 
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  R = 2 

 



 

 

                 19. 15 ÷ 3                                              20.                                           20.        20                                                                                 
 
3 )   15         (5 
      -15 
       00 
 
 
Q = 5 
R = 0 
 
 
 
 

20.  90 ÷ 10 

 

    10  )     90 (9 

  -90 

00 

 

Q = 9 

R = 0 


